

SIMPLIFYING EXPRESSIONS

Name: _____ Score: _____

Simplify the following expressions:

1) $3(x-2)+5(x-3) =$ _____

2) $2(2-5a)+3(1+4a)-(5a-2) =$

3) $4(3-7y)+5(6y-2)-2(3-y) =$

4) $2(xy+3x)+4(xy^2+1)-2(2x-xy+3x+4)$

5) $(3x+4y)-(5x-2y) =$

6) $5-2(5x+1)+15x =$

7) $2(2y-1)-(y-5) =$

8) $3(2a+4)-3(a+2)+4(a-1) =$

SIMPLIFYING EXPRESSIONS

8) $3 - (a - b) + 3(a + b) =$

9) $3(1 - 3b) - 4(3 - 7b) =$

10) $3a - (b - a) + 3(a + b) =$

11) $3(1b + 3) - 5(2b - 7a) =$

12) $2(a + 5b) + 7(a - 1) =$

13) $9(1 - b) - 2(3a - 7b) =$

User Notes & Tips:

Notes: Email here to get free solutions : info@satfreepractice.com or get them online on our website